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Kupcarnos M.H. Pemeonuk. Teopernueckada mexaHuka c. 272.

Bapuant 1

a b c
\ | \ | a=40cm, b=T0 cm,
T 1 xo C=55cM, R=45cm,
= my = 35 Kr, mg = 14 Kr,
a = 0.1 pag, L =30 cwm,
A (xC fg zZ M,=0.7Hwmt=5c.
n
y 1 Y2
Bapuant 2 b c

a =30 cMm, b =50 cmM,

c =40 cm, R =40 cm,
mi1 = 85 Kr, ma = 6 KT,
a = 0.14 pang, L = 20 cMm,

Y2

zZ M,=45Hwm t=3c.
.
c
a=35cM, b=>55cmM,
c =45 cMm, R =45 cm,
mi1 = 45 Kr, ma = 6 KT,
B a = 0.06 pag, L = 25 cwMm,
2z Z M, =18 Hm, t =3 c.
.
c
‘ a =20 cMm, b =50 cwm,
ro C=35cM, R=25cw,

m1 = 55 Kr, ms = 14 KT,
a =0.14 pag, L =10 cm,
M, =04Hwm t=5c.

B
Lz
7

a =40 cMm, b = 60 cmM,

¢ =50 cMm, R =50 cm,
m1 = 50 Kr, ma = 6 Kr,
a = 0.07 pag, L =30 cm,

zZ M,=27Hwmt=3c.




Bapuant 6 b

c
\ a=25cM, b =55 cm,
xo c=40cM, R =35 cm,
m1 = 75 KT, mo = 6 KT,
B a =0.12 pag, L =15 cMm,
g 2 M,=27Hwmt=3c.
Y2
Bapuant 7 b c
| | \ a =45 cm, b= T5 ow,
x e xo € =60 cM, R =50 cm,
o m1 = 40 kr, ms = 14 KT,
a =0.11 pan, L = 35 cMm,
£ ac fg zZ M,=11Hwm t=5c.
n
y L Y2
Bapuant 8 b c
‘ ‘ ‘ a =55 cMm, b = 65 cwm,
To o1 T ¢ =60 cMm, R =65 cm,
< m1 = 60 Kr, mo = 6 KT,
a = 0.09 pag, L =45 cMm,
4 -’g zZ M,=6.5Hwmt=3c.
« 7. 7.
¢
n
Y2 Y1
Bapuant 9 b
‘ ‘ ‘ a =20 cMm, b =50 cwm,
T o1 ro €=35cM, R=25cw,
e my = 60 Kr, mg = 14 Kr,
a = 0.15 pag, L =10 cMm,
£ < B Z M, =04Hu,t=5c.
n
Y 1 Yo
Bapuant 10, b c
‘ ‘ ‘ a =30 cMm, b =40 cwm,
T2 o1 T c=35cM, R =40 cm,
Q m1 = DD KI, ma = 6 KT,
a = 0.08 pag, L =20 cMm,
; ;zf zZ M,=2Hwmt=3c.
« C 4 Z
n
Y2 Y1
Bapuant 11 b B
‘ ‘ ‘ a =35 cMm, b = 65 cwm,
T o ro ¢=050cMm, R =140 cwm,
& m1 = 45 kr, mo = 18 K,
a =0.13 pag, L =25 cMm,
4 ac /432 zZ M,=0.6 Hvm,t =6 c.
7. 7.
77 y2




Bapuant 12 b
‘ ‘ ‘ a =50 cMm, b =60 cmM,
T2 o T c=>55cMm, R =60 cm,
< my = 85 Kr, ma = 10 KT,
a = 0.15 pang, L = 40 cm,
4 zg M., =6 Hwm t=4c.
« 7. 7.
e )
n
Y2 " Y
Bapuant 13 b
‘ ‘ ‘ a =30 cMm, b =50 cmM,
T T To c =40 cm, R = 35 cm,
o m1 = 65 Kr, ma = 18 Kr,
a = 0.17 pag, L = 20 cwMm,
4 ac -’2 M, =0.7Hm, t =6 c.
7 .
n
y " (2
Bapuant 14 b
‘ ‘ ‘ a =55 cMm, b = 65 cwm,
To o1 T ¢ =60 cMm, R =60 cm,
= m1 = 45 Kr, ms = 14 KT,
a =0.12 pag, L =45 cMm,
ac 4 fg M, =2Hwm t=5c.
l A .
n
Y2 " Y
Bapuant 15 b
‘ ‘ ‘ a =45 cMm, b = 55 cwm,
To o1 T ¢ =50 cMm, R =55 cm,
< m1 = 65 Kr, mo = 6 KT,
a = 0.1 pan, L =35 cwm,
4 -’g M, =53 Hwm, t=3c.
« 77 7.
¢
n
Y2 Y1 Y
Bapuant 16 b
‘ ‘ ‘ a =35 cMm, b =45 cwm,
T2 o1 T ¢ =40 cm, R =40 cwm,
= m1 = 25 KI, mg = 14 Kr,
¢ A a = 0.08 pag, L =25 cMm,
@ v M, =04 Hwm t=5c.
l 7. 77
n
Y2 Y1 Y
Bapuant 17 b
a =40 cMm, b = 60 cwm,
¢ =50 cMm, R =50 cm,
m1 = 60 kr, ms = 10 KT,
B a = 0.1 pan, L =30 cwm,
2w z M,=22Hwm t=4c.

77




Bapuant 18

T

A

777

a =40 cMm, b="T70 cmM,
c=55cM, R =45 cm,
mi = 65 Kr, ma = 6 KT,
a = 0.14 pang, L = 30 cwm,
M, =4.5 Hm, t =3 c.

Bapuant 19 ,

T2

e

Y2 1

a =50 cMm, b =60 cmM,
c=>55cMm, R =55 cm,
m1 = 55 Kr, mg = 10 Kr,
a = 0.13 pag, L =40 cm,
M, =32Hwm t=4c.

Bapuant 20,

T2

e

Y2 1

a =30 cMm, b =40 cmM,
c=35cM, R =35 cwm,
m1 = 70 kr, ms = 10 KT,
a = 0.16 pag, L = 20 cMm,
M, =18 Hm, t =4 c.

Bapuant 21,

T2

.

Y2 1

a =40 cMm, b =50 cmM,
c =45 cMm, R =50 cwm,
m1 = 55 Kr, me = 10 Kr,
a = 0.09 pag, L =30 cMm,
M, =19 Hm, t =4 c.

Bapuant 22,

x2

'

Y2 7

77

a =45 cMm, b =55 cmM,
¢ =50 cMm, R =50 cm,
m1 = 30 kr, ms = 10 KT,
a = 0.08 pag, L =35 cMm,
M, =1.1Hwm t=4c.

Bapuant 23,

x2

Y2 7

77

a=35cM, b=45 cmM,
c =40 cm, R =40 cwm,
m1 = 45 Kr, mg = 18 Kr,
a =0.13 pag, L =25 cMm,

zZ M,=0.6Hwm t=6c.




Bapuant 24, b

c
a=>50cMm, b="T0 cmM,
c =60 cMm, R =60 cMm,
m1 = 65 Kr, me = 10 Kr,
B a =0.11 pang, L = 40 cm,
2z M,=3.7Hwvm t=4c.
.
Bapunanr 25, b c

\ a =50 cM, b =70 cm,

| |

T o1 To ¢ =60 cMm, R =55 cm,
o my = 30 kr, ma = 10 Kr,
= 0.08 pan, L =40 cm
A «@ , ,

ac /}2 zZ M,=14Hwm t=4c.

n
Yy Y1

Bapuant 26, b

‘ ‘ ‘ a =40 cMm, b =70 cwMm,

z ro €=055cM, R=45cm,
m1 = 70 Kr, ms = 14 KT,
a =0.17 pag, L = 30 cMm,
o zz zZ M,=2Hwmt=5c.

‘ a =30 cMm, b = 60 cwm,
ro C=45cM, R =40 cu,
m1 = 90 kr, ma2 = 6 Kr,
a = 0.15 pag, L =20 cMm,
z zZ M,=5Hwmt=3c.

Y2

‘ a =45 cMm, b = 65 cwm,
o c=>55cMm, R =55 cm,
m1 = 50 Kr, mg = 18 KT,
B a = 0.1 pan, L =35 cwm,
2z z M,=1Hwm t=06c.

77

‘ a =20 cMm, b = 50 cwm,
o €=35cM, R=25cM,
my = 70 Kr, ma = 6 Kr,
B a = 0.15 pag, L =10 cMm,
Q Lz zZ M,=15Hwm t=3c.




Bapuant 30, b

a=45cMm, b="T5 cmM,

xo €=60cM, R =50 cm,

m1 = 35 Kr, me = 10 Kr,
a = 0.09 pag, L = 35 cwMm,
zZ M,=14Hwm t=4c.
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12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

0.146
0.639
0.365
0.215
0.398
0.571
0.164
0.468
0.199
0.431
0.127
0.355
0.149
0.183
0.502
0.139
0.262
0.632
0.323
0.384
0.244
0.221
0.127
0.278
0.228
0.240
0.672
0.102
0.667
0.250

0.729
1.918
1.095
1.076
1.193
1.713
0.819
1.404
0.993
1.293
0.762
1.420
0.893
0.914
1.505
0.696
1.048
1.896
1.290
1.536
0.977
0.884
0.762
1.113
0.912
1.198
2.016
0.614
2.002
1.000

-8.571
1.319
2.941
-2.029
3.214
L.111
-9.074
4.091
-1.892
1.967
0.000
0.000
0.000
-10.678
2.958
-8.974
0.000
2.535
0.000
0.000
0.000
0.000
0.000
0.000
0.000
-5.000
1.250
0.000
0.789
0.000

0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
-7.143
4.211
-4.337
0.000
0.000
0.000
4.286
0.000
6.154
2.500
4.615
8.750
-7.143
5.333
10.000
0.000
0.000
-9.265
0.000
7.778

75.714
33.297
41.471
37.246
46.429
32.037
80.000

-70.000

36.081
-42.951
67.857
-65.263
40.843
-78.051
-58.803
-57.564
48.571
50.563
-67.692
-43.750
-56.154
-66.250
-55.000
59.333
67.500
60.833
36.563
62.206
26.711
75.000

-1.200
-0.012
-0.478
-1.009
-0.646
2.331
-1.797
-14.091
-0.888
-5.179
-0.422
-0.053
-0.046
15.129
-12.040
4.984
0.012
1.729
-5.509
-4.616
-1.542
-2.556
1.375
0.072
-0.388
-3.800
4.878
0.301
0.263
0.273

0.329
0.002
0.146
0.188
0.181
-0.454
0.439
3.346
0.179
1.335
-1.276
-24.942
1.000
-3.309
2.667
-1.433
-1.163
-0.304
-19.667
-13.779
-8.767
-8.147
7.911
-1.750
-1.087
0.634
-0.806
0.769
-0.044
1.791

3.430
-4.400
-1.321

2.630
-1.915
-4.972
5.085
8.769

2.267

3.172

0.993
-1.367
0.582
-9.860
7.284

-3.291
-0.798
-8.198
4.218

3.848

0.809
1.782
-0.803
-1.185
-0.524
9.827

-9.755
0.344

-2.668
-1.148

-0.942
0.765
0.402
-0.489
0.535
0.968
-1.242
-2.082
-0.457
-0.818
3.889
16.875
1.874
2.156
-1.614
0.946
-2.130
1.442
13.006
9.061
5.901
5.409
-5.299
-3.203
-2.243
-1.641
1.613
1.608
0.444
-5.291




